Config sample lines from hal file:
loadrt hostmot?2

loadrt hm2_eth board_ip="192.168.1.121" config="num_encoders=1 num_pwmgens=0 num_stepgens=3 sserial_port_0=21XXXXXX

Notes:

board_ip="192.168.1.121" The default IP address of the 7i76e
Its suggested to use the 10.10.10.10 IP address for LinuxCNC so you don't end up with the
real time Ethernet IP address range, overlapping a DHCP pool of local network addresses.
(set W3 up instead of down to use 10.10.10.10)

num_encoders=1 see man hostmot?2 for additional details

num_pwmgens=0 see man hostmot2 for additional details

num_stepgens=3 see man hostmot2 for additional details

sserial_port_0=21xXXXxX The first digit (2) selects the software mode from the 7i76e itself,

The second digit (1) selects the software mode of the connected SSerial device i.e. the 7i73

7i76e supports 3 Software modes:
MODE 0 I/0 only mode (32 bits of input data, 16 bit of output data)
MODE 1 I/0 plus analog input mode (32 bits of input data, 16 bits of output data, 4analog input channels)
MODE 2 I/O plus analog input and field voltage and MPG mode
32 bits of input data, 16 bits of output data, 4 analog input channels, field voltage analog in,
and 2 MPG encoders on inputs 16..19.
Default encoder count mode is 1X to match normal 100 ppr MPG's.
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* Its suggested to use the 10.10.10.10 IP address for LinuxCNC so you don't end up with the
real time Ethernet IP address range, overlapping a DHCP pool of local network addresses.
(set W3 up instead of down to use 10.10.10.10)
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To SSerial Device i.E. 7i73
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Connection of Analog Input
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You may use also:
Pin5:+24V
Pin4:+24V
Pin3:+24V
Pin2:+24V

TB6 : Analog in

TB1 Field Power
Pin 8 : GND
Pinl:+24V

gin3
gin2
ginl
gin0

hm2 7i76e.0.7i76.0.0.analo

hm2 7i76e.0.7i76.0.0.analo

PIN 4
PIN 3
PIN 2
PIN 1

hm2 7i76€e.0.7i76.0.0.analo

hm2 7i76€e.0.7i76.0.0.analo

as power source or get GND and +24 V

directly from the powersupply.



Connection of Digital Input

TB1 Field Power
Pin2:+24V

You may use:

TB6 : Digital in

PIN 16 = hm2_7i76e.0.7i76.0.0.input-15
PIN 15 = hm2_7i76e.0.7i76.0.0.input-14
PIN 14 = hm2_7i76e.0.7i76.0.0.input-13
PIN 13 = hm2_7i76e.0.7i76.0.0.input-12

ETHERNET

P3 5V PWR

Pin5: 4+ 24\ PIN 12 = hm2_7i76e.0.7i76.0.0.input-11
Pind:+24V PIN 11 = hm2_7i76e.0.7i76.0.0.input-10
Pin3-+ 24V PIN 10 = hm2_7i76€.0.7i76.0.0.input-09
Pin1l-+24V PIN9 =hm2_7i76e.0.7i76.0.0.input-08
PIN 8 =hm2_7i76e.0.7i76.0.0.input-07
as power source or PIN 7 =hm2_7i76e.0.7i76.0.0.input-06
get it directly from PIN6 =hm2_7i76e.0.7i76.0.0.input-05
the power supply. PINS5 =hm2_7i76e.0.7i76.0.0.input-04
VESA ELECTRONCS = Do not use
- O ., W O O hm2_7i76€.0.7i76.0.0.input-03
| g LI 4, L« [ d E-% ] hm2_7i76€.0.7i76.0.0.input-02
zr:! =) %ﬁ[_] E§u| .{[—] $g = - = hm2_7i76e.0.7i76.0.0.input-01
Sl 7| P A9 o &5 g hm2_7i76e.0.7i76.0.0.input-00
1 I B T E H| e 2 ~d As they are used as analog input
gueziees =| - | o oo o
E %:E L § ~ a3 = .\ LR Z | SR PIN 16 = hm2_7i76e.0.7i76.0.0.input-31
S = = - PR I Ly v ks I v R 1= S 1 PIN 15 = hm2_7i76€.0.7i76.0.0.input-30
“e U5 A O i[l? 1T T|sq” Somi 11 250 |99 TT e PIN 14 = hm2_7i76€.0.7i76.0.0.input-29
L= [Me -F L | & edMe il| S5 s T 0 eI | PIN13=hm2_7i76e.0.7i76.0.0.input-28
J"m & g ==l 8] = ¢EU§ (| ar NafIlile PIN 12 = hm2_7i76€.0.7i76.0.0.input-27
= T |zt |5 LlfEdVe — - S0 == 7| S PIN 11 = hm2_7i76e.0.7i76.0.0.input-26
I s & | o=t a9+ Hlsq . sw 5| Zqmaz | Sqg=—= | PIN 10 = hm2_7i76€.0.7i76.0.0.input-25
F RO UV = I - W] O] g~ |EIXCC|23__ |PIN9 =hm2_7i76e.0.7i76.0.0.input-24
D- ] " gll° d = [zad & | 4“7~ |ad E€% |2 |_..u— PIN 8 =hm2_7i76€.0.7i76.0.0.input-23
o= Bl-— | 4 |TdEM (2. l2d == 2 e e PIN7 =hm2_7i76.0.7i76.0.0.input-22
Dj} ﬁﬂ 5. | dOf=| d° D 59 -- |87 %"l 8qeL=—"PIN6 =hm2_7i76e.0.7i76.0.0.input-21
" 258%; mt:l,:, 2 :‘..E i re| d o "__ -| J switches PIN5 =hm2_7i76e.0.7i76.0.0.input-20
GSNE 1I:|““““ - . ig* % Mesr cﬁ [=r Eﬁw"'-‘-:'igs Fc.;:m & d i.e. limit pg not_use _ .
g = 1ESA[ @G | W5 L L “[®9 XY.Z  hm2_7i76€.0.7i76.0.0.input-19
ODD L@% O JITGE -~ ™ _ o O hm2_7i76€.0.7i76.0.0.input-18

hm2_7i76e.0.7i76.0.0.input-17
hm2_7i76e.0.7i76.0.0.input-16
As they are used as MPG input



TB5 : Digital in

TB1 Field Power
Pin2:+24V

Connection of

PIN Names see previous page
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Better use PNP!



Connection of Digital Output

ETHERNET

P3 5V PWR

TB1 Field Power
Pin 8 : GND

Important note:
Maximum output load per pin is 350 mA
Total output is limited to 2A.

Or get GND directly
from the power supply.

GND
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TB5 : Digital out TB6 : Diqgital out
PIN 24 = hm2_7i76e.0.7i76.0.0.output-15 PIN 24 = hm2_7i76€.0.7i76.0.0.output-07
==== PIN23= hm2_7!76e.0.7!76.0.0.output-14 = P|N 23 = hm2_7i76€.0.7i76.0.0.output-06
==== PIN22= hm2_7!76e.0.7!76.0.0.output-13 = P|N 22 = hm2_7i76€.0.7i76.0.0.output-05
= === PIN21=hm2_7i76e.0.7i76.0.0.output-12 m— PIN 21 = hm2_7i76€.0.7i76.0.0.output-04
PIN 20 = hm2_7i76e.0.7i76.0.0.output-11 PIN 20 = hm2_7i76e.0.7i76.0.0.output-03
= === PIN19=hm2_7i76e.0.7i76.0.0.output-10 = PIN 19 = hm2_7i76€.0.7i76.0.0.output-02
PIN 18 = hm2_7i76e.0.7i76.0.0.output-09 PIN 18 = hm2_7i76€.0.7i76.0.0.output-01
==== PIN17 =hm2_7i76e.0.7i76.0.0.output-08 —

N

PIN 17 = hm2_7i76e.0.7i76.0.0.output-00




Connection of MPG's

TB5 : MPG in

MPG 1 Signal B

- === PIN4
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hm2 7i76e.0.7i76.0.0.enc0.count



Note:

Connection of Ste ers Not used pins can not be used as 10 Pin,

even if not all stepper are used TB2 : Stepper in
PIN 24 = + 5V . Stepper 3
s acTroncs . m PIN 23 = DIR+ : Stepper 3
O QI o O “ o O O PIN 22 = DIR- : Stepper 3
Z - dl T d. L1l d95 .= | § PIN21=STEP+ :Stepper3
x o ‘_! & - s -{[—] 0 — — i PIN 20 = STEP - : Stepper 3
= = B S - = S oslaf PIN 19 = GND : Stepper 3
- g|- | S| EE : E
z C o = g
s fﬁmmﬁm"‘ 3¢ do " | =g * e PIN 18 = + 5V : Stepper 2
L0 o = = E (,f .
%EI:,JD‘*':'.,%_F | z — &9 Q; 2d o |59 o, |55 PIN 17 =DIR+  : Stepper 2
jE |&2 —p 2| | IEEJeYTEIRY T |EQ " |51 PIN16=DIR-  :Stepper2
R T a_ﬂ"iD? g |® - QEWT'D S ] = P B PIN 15 = STEP+ : Stepper 2
_ I:lllEI 1= . [l£38 ¢ Oitwm - |Zd e - | S0 PIN 14 = STEP -  : Stepper 2
i A A B | ST fEUg q] s 59+ =9 PIN13=GND  :Stepper2
Dm__m g :i E . || 2 o = mw__ - | e m__ - | o
[ . |95 —_|2dT==]egv " 7 lod 12 |ed PIN12=+5V :Stepper 1
[} = - i o o a1 me ap - L F - =)
wr ([ oD O S|y &' |+ nEL DD el ZC PIN 11 = DIR+ . Stepper 1
[ = = |D: w2 | o|T "5 D - G &".WD Qo - |29 wm ™ é': PIN 10 = DIR- : Stepper 1
ey 2l 1 wd b 2] e o |2 PIN 9=STEP+ : Stepper 1
* i - e 2d . -|gd 1 | sd PIN 8=STEP- : Stepper 1
« DDJ’ 1 G w o ERE B = | \ od oo _ °d w " PIN 7 =GND . Stepper 1
E v ““"558553“- uniE E =" - - I EE - - =
= —— . = = I = e e 5| O _ .
S N ) P - R 1 S e P N SV o
O e Qe " = O —dese O PIN 4=DIR-  :Stepper 0
- PIN 3 =STEP+ : StepperO
) PIN 2=STEP- : StepperO0
setp hm2_7i76e.0.stepgen.00.step_type 0 PIN 1=GND : Stepper 0
Type O Type2
—— + 5 \/ +5V Sets the type to be used: TB3 : Stepper in
e DR + A Type O = step/dir PIN 6=+5V : Stepper 4
DIR - A- Type 1 = up/down PIN 5=DIR+ : Stepper 4
STEP + B Type 2 = quadratur A/B PIN 4 =DIR- : Stepper 4
STEP - B- Type 3 = Three phase full step PIN 3=STEP+ : Stepper4
m— GND GND Etc. PIN 2=STEP- : Stepper4

) PIN 1=GND . Stepper 4
See ,man stepgen* for all details



r------------------1

1
Connection of Spindle | L EEELEEEEE EEEEEE EELEL L
e
| z
A ELCCTRONCS il !, i
O =w= L Ol O O
= | m El—”TI g .. 9 =
2 T l:! c‘f.—t'| %‘ﬁ[_] g [ |,{ | q = C
£ S| - = g ) = S g g
: (‘: _l i_ EE L O 1 o -.n': [m
;l C ':u;] t: =4 :;I:
S| -t 0 g | G o4
- = 5 d I‘|+ € 59 w56
e - = §|:u|_> 1 &g = & g
== [ *"l':w _I%If"“l:l NEI—— T 8': @ w2 8':
= = g™ o ogfg =7 a g
Ve x 5 |:| g g wm - |24
o e ‘?..E _ Hen I"_"l: % =
=1 lad = | Y ot i EF
MRS P
_i LK Pl YO sa = 5 0
S|y %i— =g =X - ZC & g
ol|~—"5 g - = = w | GO
z ° q —DSE‘T~E I = led *® |24
= 3 P I::E- ._E‘“EWD Eu.m? IIfl: =
= O  cmoesome O . %E— w O } | Egl:
o } 0 — g _E - O D = O m Y10 sl F—DE it o
a 55853’}‘- mi 2 | S - g r - O & 0 1 g - - =
= &) e g & O e 0O e mml:l ._I: 3 g ;-T"'T' 5
© GND 1D - ﬂ;g Q 5| Mesm|md | = «|md[]="» et .| ad - B
l S iy N76E W = T
ol ﬁm O &, _ZHI D
TB3 : Encoder TB4 : Spindle
= = = =« P|N 14 = Index - w=== PIN 8 = Spindle DIR +
PIN 13 = Index PIN 7 = Spindle DIR -
PIN12=45V == PIN 6 = Spindle Enable +
== m=:PIN11=B - = PIN 5 = Spindle Enable -
PIN 10 =B PIN 4 = not connected hm2_7i76e.0.7i76.0.0.spindir
PIN 9=GND === PIN 3= Spindle + hm2_7i76e.0.7i76.0.0.spinena
PIN 8=A- === PIN 2= Spindle OUT hm2_7i76e.0.7i76.0.0.spinout

PIN 7=A PIN 1 = Spindle -



